Chapter 1 Data Abstraction: The Walls

1
const CENTS_PER_DOLLAR = 100;
void computeChange(int dollarCost, int centsCost, int& d, int& c);
2a
const MONTHS_PER_YEAR = 12;
const DAYS_PER_MONTH[] = {31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31};
void incrementDate(int& month, int& day, int& year);
bool isLeapYear(int year);
3a
changeAppointmentPurpose(apptDate: Date, apptTime: Time, purpose: string): boolean
{
if (isAppointment(apptDate, apptTime))
cancelAppointment(apptDate, apptTime)
return makeAppointment(apptDate, apptTime, purpose)
3
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3b
displayAlTAppointments(apptDate: Date): void

{
time = START_OF_DAY
while (time < END_OF_DAY)
if (isAppointment(apptDate, time))
displayAppointment(apptDate, time)
time = time + HALF_HOUR
}

This implementation requires the definition of a new operation

displayAppointment()
as well as definitions for the constants START_OF_DAY, END_OF_DAY and HALF_HOUR.

Bag<std::string> fragileBag;
while (storeBag.contains("eggs™))

{
storeBag.remove("eggs");
fragileBag.add("eggs");
}
while (storeBag.contains("bread™))
{
storeBag.remove("bread");
fragileBag.add("bread™);
}

Bag<std::string> groceryBag;

v = storeBag.toVector();

for (int i = 0; i < v.size(Q); i++)
groceryBag.add(v.at(i));
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int removeAndCount(ArrayBag<std::string>& bag, std::string givenString)
{
int counter = 0;
while (bag.contains(givenString))
{
counter++;
bag.remove(givenString);
}

return counter;

public BagInterface<ItemType> union(BagInterface<ItemType> anotherBag);

public BagInterface<ItemType> intersection(BagInterface<ItemType> anotherBag);

public BagInterface<T> difference(BagInterface<T> anotherBag);
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9a
display(p.coefficient(p.degree()))

9b
p.changeCoefficient(p.coefficient(3) + 8, 3)
9¢
r = anew empty polynomial
for (power = 0; power < p.degree() || power < g.degree(); power++)
{

// ris the sum of polynomials p and q
r.changeCoefficient(p.coefficient(power) + q.coefficient(power), power)

Y // end for
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